





















































X t y r2

0,0 is centre r radius

r

r O r

r

Exl
Solve X t 5 25

y set

Only use the substitution method

sub for in

I Get15 25

x K2 2x t I i 25

2 t 2x t l 25 0

2 2 t 2x 24 0

X t x 12 0

x 3 x 4 o

Equation of a Circle

Non-Linear Simultaneous Equations



Either x 3 0 or X 1 4 0

x 3 K 4

3 3 1 4 y Cftc 3

Solution
c 3 x 4
9 4 y 3

Ex 2 y si 3 5

y 3 x t 12

Sub for y in

3 12 3 5

O K2 3 5 3 12

O x Gx 7

O Get 1 x 7

Either x 1 0 or x 7 0

x I k 7

ye 3C 1 12 y 3G 12

y 9 y 33

JC l x 7
y a yess



Ex 3 y of 2x t 8

y 3 10

Sus for y in

3 10 od t 2x 8

O x't 2 8 3 10

O so X Z

O x t 1 Gc 2

Either k t 1 0 or X 2 0

x I x Z

y 3C c to y 3 2 to

g 7 9 16

5 EET
Exa y 2x 3 x t 7

J 4 5

Sub for y in
4 5 2 2 3 1 7

0 2 2 3 7 doc 5

0 2 2 Toc t 2



bIfb2 Gac a z
be 7Za
c 2

x t7 f49 16
4

x 1 71 33

4

x 1 71 533 or t 533
4 4

x 3.186 X 0.314

3 413.186 5 3 4 o 314 5

y 17.7 y 6.26

2 3.2 K O 3
y n r 3 6.3

Exercise I y too

g acts

Sus for y in
I t 2 3 100

CZ t 4 2 t 122C t 9 100

5 2 1 I Zac t 9 too O



5 2 to 2x 9C TO

x bits 4ac
Za

x 1211122 4 5 5
2 5

x 12111964
IO

x 12 11964 or x 12 11964
10 10

X 3.23 2C 5.63

y 2 3 23 3 y 2C 5.63 t3
ye 9.46 y 8.26


